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3. POLYNOMIALS

The graph of the polynomial f(x) = 3x —7 isa straight line which
Intersects the x- axis at exactly one point namely
In the given figure , the number of zeros of the polynomial f(x) are

The number of zeros lying between —2 and 2 of the polynomial f(x)
whose graph in given figure is
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The degree of the constant polynomial is_
The zero of p(x) =ax-bis_
If oo and B are the zeroes of the polynomia 3x2+5x+2,then the value
of a+f+ofis
If the sum of the zeroes of the polynomial p(x) = (k?>~14) x?-2x-12
is1, then k takesthevalue(s)
If oo and B are zeroes of p(x) = x>~5x+k and a—f = 1 then the value
of kis_
If o, B, y are the zeros of the polynomial ax3+bx?+cx+d, then the
vaue of Vo+1/B+1/yis_
If the product of the two zeros of the polynomial x3-6x%+11x—6 is 2
then thethird zerois
The zeros of the polynomial of x3-x?are
If the zeroes of the polynomial x3-3x?+ x + 1 are alr, aand ar then
thevalueof ais
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If oo and B are the zeroes of the quadratic polynomial 9x2-1, the
vaue of a?+B%is

If o, B, v are the zeroes of the polynomial x3+ px2+ gx + r then
Vo + 1/By+ l/oyis

The number to be added to the polynomial x?>-5x+4, so that 3 is the
zero of the polynomial is

If o, B are zeroes of p(x) = 2x°>~x—6 then the value of o *+BLis

_____Isthe coefficient of the first term of the quotient when
3x3+x2+2x+5 is divided by 1+2x+x2.

If the divisor is x?and quotient is x while the remainder is 1, then
thedividendis

The maximum number of zeroes that a polynomial of degree 3 can
haveis

The number of zeroes that the polynomial f(x) = (x—2)? +4 can have
IS

The graph of the equation y = ax?+ bx+ ¢ is an upward parabola, if
If the graph of a polynomia does not intersect the x — axis, then the
number of zeroes of the polynomial is

The degree of a biquadratic polynomial is

The degree of the polynomid

7u6—gu4+4u2+u —-81is

Thevalueof p(x) = x>3x—-4ax=-1is_

The polynomia whose zeroesare-5and4is__

If —1 is a zero of the polynomial f(x) = x°~7x—8 then other zero is
If the product of the zeroes of the polynomial ax3-6x2+11x—6 is 6,
then thevalue of ais

A cubic polynomia with the sum, sum of the product of its zeroes
taken two at atime, and the product of its zeroes are 2, —7 and —14
respectively, is

For the polynomial 2x3-5x2-14x+8, the sum of the products of



zeroes , taken two at atimeis

31. If the zeroes of the quadratic polynomial ax?+bx+c are reciprocal to
each other, thenthevalueof cis

32.  can bethe degree of the remainder at most when a biquadrate
polynominal is divided by a quadratic polynomial.

ANSWERS

1) (7/3,0); 2) 3; 3) 2; 4) 0; 5) bla; 6) —1; 7) =4, 8) 6; 9) —c/d; 10) 3;
11) 0, 0, 1;

12) —1; 13) 2/9; 14) plr; 15) 2; 16) -1/6; 17) 3; 18) x3+1; 19) 3;

20) 2; 21) a>0;

22) 0; 23) 4; 24) 6; 25) —2; 26) x>+x—20; 27) 8; 28) 1;

29) x3-2x>—7x+14; 30) -7; 31) a; 32) 1.



